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Skills Practice

Multiplying Probabilities
A die is rolled twice. Fin_@deach probability. -
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1. P(5, then 6) L L - | A ‘\ 2. P(no 2s) {,-_f- . i |\~ | 8. P(two 1s) /L L - =
L b lo b b Llj_;'fn ". L b |2 \
4, P(any number, then not 5_)_ ~ 5.P(4,thennot6) 6. P(not 1, then not2)
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A board game uses a set of 6 (iifferent cards. Eachcard displays one of the foﬁﬁﬁg
figures: a star, a square, a circle, a diamond, a rectangle, or a pentagon. The cards
are placed face down, and a player chooses two cards. Find each probability.
I, (1 ]
7. P(circle, then star), if no replacement occurs L= L— f
5 (o 5 |30 ] B
8. P(diamond, then square), if replacement occurs | f i 5\

9. P(2 polygons), if replacement occurs = Ae L—

o
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10. P(2 polygons), if no replacement occurs Z—~

’E;“ié - ;%ﬁ:ﬂj;éj

11. P(circle, then hexagon), if no replacement( occurs

@ Determine whether the events are independent or dependent. Then find each
C probability. '

12. A mixed box of herbal teabags contains 2 lemon teabags, 3 orange-mango teabags,
3 chamomile teabags, and 1 apricot-ginger teabag. Kevin chooses 2 teabags at random to
bring to work with him. What is the probability that he first chooses a}’lﬂTn teabag and

then a chamomile teabag? (le per oyt > 3

g% u [
13. The chart shows the selection of olive oils that )
of Ol Domestic | 1 rted
Hasha finds in'a specialty foods catalog. If she L L
: randomly selects one type of oil, then randomly Purs 2 5
; selects another, different oil, what is the Cold Pressed 4 8

probability that both selections are domestic, Frirst Cold Pressed 7 15
first cold pressed oils? R VI T o B é—l
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For Exercises 14 and 15, two thirds of the area of the spinner
earns you 50 points. Suppose you spin the spinner twice. . /%

sp L
14. Sketch a tree diagram showing all of the ’L[/ o0 J o0
possibilities. Use it to find the probability of 2 v
spinning 50 points, then 100 points. 7 \ /b\ | oV

—

15. What is the probability that you get 100 points
on each spin?
L
b

%

© Glencoe/McGraw-Hill 719 Glencoe Algebra 2
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Practice
Multiplying Probabilities C{
A die is rolled three times. Find each probability. PRI 7 >
L B . 51/,%-',5\
1. P(three 4s) Bl i _ZKP&__; - 2.Pmods) /' 7, 0 |2l
3. P(2, then 8, then 1) | , | ' -1 | 4.P(three different even numbers) 2 , Z . — 9—
5. P(any number, then 5, thein 5) . - 6. P(even number, then odd number, thgn D 4 ;/5(0
L 2 - R [ LSV

(/. o] =2 fy A7

i (€7 G o . 0" 210, 12
Tharz agre nickels, 2 dime('s, an& 5 quarters in a purse. Three" coing’ arf(:nseliaéted in ! _
succession at random. Find the probability. -

) - 20 |
7. P(nickel, then dime, then quarter), if no replacement occurs é ' 2 . b = T 20 =
) (O q L=
8. P(nickel, then dime, then quarter), if replacement occurs ’ % Y %__ 20 [ %
- L -
9. P(2 nickels, then 1 quarter), if no replacement occurs 2 (02 1o fio jooo_ | |O¥
. Z, L ) S B %O . [ . . -~
10. P(3 dimes), if replacem 2.2 @ lo 9 g - J20° l, > e \
FZ? ~ (o 10 1o {UUD —
11. P(3 dimes), if no replac énit occurs 0 <

For Exercises 12 and 18, determine whether the events are independent or
dependent. Then find each probability. '

12. Serena is creating a painting. She wants to use 2 more colors. She chooses randomly ﬁ'onQ/ ,
6 shades of red, 10 shades of green, 4 shades of yellow, 4 shades of purple, and 6 shades g
of blue. What is the probability that she c}goaqu sha_crll_(}as of green? q‘i en eyt

a-.

13. Kershel’s mother is shopping at a bakery. ﬁe owner ofé"!‘srker /IZ okie from a jar
containing 22 chocolate chip cookies, 18 sugar cookies, and 15 oatmeal cookies. Without
looking, Kershel selects one, drops it back in, and then randomly selects another, What is
the probability that neither aelectliorp was a c}hfocqlate chip cookie? 4% ' 2% 09 (9

Y D0t !’: -;""‘_" s —C . 9 & 1

14. METEOROLOGY The Fadee\]rg’!é 'aié(ialéﬁzjing a 3-day vacation to the mountains. A > °
long-range forecast reports that the probability of rain each day is 10%. Assuming that
the daily probabilities of rain are independent, what is the probability that there is no
rain on the first two days, but that it rains on the third day? (|0 | 0 " o) &l

L

' (U0 "o . 192 | oo
RANDOM NUMBERS For Exercises 15 and 16, use the following information. _—
Anita has a list of 20 jobs around the house to do, and plans to do \ &l \
3 of them today. She assigns each job a number from 1 to 20, and ¢ 1 1 00D
sets her calculator to generate random numbers from 1 to 20, which 74 ‘
can reoccur. Of the jobs, 3 are outside, and the rest are inside. L.

15. Sketch a tree diagram showing all of the possibilities B
that the first three numbers generated correspond to x
inside jobs or outside jobs. Use it to find the probability .0 0
that the first two numbers correspond to inside jobs,
and the third to an outside job. | ;¢ BS % pe = e W s '

T \{)(JJ 1 3 L "y ‘

16. What is the probability that the number generated
corresponds to an outside job three times in a row?
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